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For items (1- 30), read each one carefully then choose from A, B, C, or D the correct

answer. Write the answers down in your ANSWER BOOKLET.

1. Nowadays, it is possible to ----------- saltwater to produce water for human consumption or
irrigation.
A) desalinate B) desalination C) desalinated D) desalinating
2. Muna began her own business with an ----------- she got from her grandfather.
A) ambitious B) inheritance C) regional D) reference

3. If a city recycles everything and doesn’t throw anything away, it is -----------

A) wind farms B) renewable energy C) zero -waste D) car-free zone
4. When you -------—--- that hurts someone, it’s important to apologise.

A) shake hands B) join a company C) earnrespect D) make a mistake
5. The expression "-----—----—- " means people who are identified as possible customers.

A) age group B) target market C) package holiday D) sales pitch
6. The company hopes to attract both foreign and ----------- investors.

A) domestic B) domesticate C) domesticity D) domestically
7. When businessmen discuss important issues and try to do a deal, they -----—-—--- .

A) interpret B) keen C) negotiate D) conflict
8. After a long ----------- , we managed to solve the problem.

A) agreement B) meeting C) satisfaction D) secure
9. Majed is extremely ----------- about his work, but he is not very competent.

A) reference B) enthusiastic C) rewarding D) founder

SEE PAGE TWO...




PAGE TWO
10. The ability to stay calm under pressure is an essential ----------- for a good manager.

A) attribute B) polymath C) effect D) export

11. - to the invention of the oud was Al-Kindi.
A) The person who contributed B) The thing which contributed
C) It is the person who contributed D) It is Al-Kindi who contributed

12. Rashed hid the iPad under the mattress.
The sentence which emphasises the underlined words is -----------
A) The person who hid the iPad under the mattress was Rashed.
B) The thing that Rashed hid under the mattress was the iPad.
C) The place where Rashed hid the iPad was under the mattress.
D) It was the iPad that Rashed hid under the mattress.

13. Yesterday, we visited the city museum ----------- I’d never been to before.
A) where B) when C) which D) who
14. The day ----------- I have to call to schedule an appointment is Sunday.
A) where B) when C) which D) who
15. People ----------- love exploring historical Roman ruins will certainly find a visit to Qasr
Bashir very rewarding.
A) where B) when C) which D) who

16. Yousef invited Amjad to the party last week.
The sentence which emphasises the underlined words is --—-------
A) It was Yousef who invited Amjad to the party last week.
B) It was Amjad who invited Yousef to the party last week.
C) It was last week that Yousef invited Amjad to the party.
D) It was the party that Yousef invited Amjad to last week.

17. You can't go out to play football ----------- you finish your homework.

A) even if B) unless C) provided that D) if
18. 1 --—----—--- to London if I don't get a cheap flight.

A) hadn't travelled B) didn’t travel C) won't travel D) wouldn’t travel
19. Hatem ----------- the car himself if he had had the tools.

A) repairs B) would have repaired

C) would repair D) will repair
20. When it rains, the grass ----------- wet.

A) got B) had got C) get D) gets
211 - late if T hadn’t overslept.

A) will be B) wouldn’t have been C) would be D) am
22, - water reaches 100 degrees, it boils.

A)If B) Unless C) Even if D) As long as
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23. Rania regrets being angry at breakfast time.
The sentence which has a similar meaning to the one above is -----------
A) If only Rania hasn’t been angry at breakfast time.
B) If only Rania has been angry at breakfast time.
C) If only Rania had been angry at breakfast time.
D) If only Rania hadn’t been angry at breakfast time.

24. 1 have a stomachache. I wish I ----------- SO many sweets!
A) hadn’t eaten B) had eaten C) have eaten D) haven’t eaten

25. If only Rami hadn’t forgotten to water the plants.
The above sentence means that -----------

A) Rami didn’t forget to water the plants. B) Rami forgot to water the plants.

C) Rami watered the plants. D) Rami remembered to water the plants.
26. I am very hungry! I wish I ----------- something to eat before the conference.

A) has B) had had C) didn’t have D) hadn’t had
27. My cousins don’t live near here. [ wish they -----—---- so far away.

A) weren’t B) were C) had D) haven’t
28. You must not take in medicine without consulting a ----------- :

A) phyzician B) physitian C) physician D) physition
29. 1 didn’t bring a coat, and now I’m cold ----------- Ifonly I ----------- a coat.

A) , /brought B) . /had brought C) ,/bring D) ! /has brought
30. If you get an interview for a job ----------- you will need to show that you have good

listening skills -----------
A, /? B) ./ . o /. D)! /.
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Question Two: (30 points)
Read the following text carefully, and then in your ANSWER BOOKLET answer all
the questions that follow. Your answers should be based on the text.

Masdar City will run entirely on renewable energy sources. It is built on an advanced energy
grid which monitors exactly how much electricity is being used by every outlet in the
complex. In order to reduce its carbon footprint, Masdar City will be a car-free zone,
designed to be pedestrian and cycle-friendly.
Energy will be provided by solar power and wind farms, and there are also plans to build the
world’s largest hydrogen plant. Biological waste will be used as an energy source too, and
industrial waste will be recycled.
The current residents of Masdar City are all students at the Masdar Institute of Science and
Technology, a university whose students are fully committed to finding solutions to the
world’s energy problems.
While the project has the support of many global, environmental and conservation
organisations, there is some criticism of it. It is felt that, instead of building an artificial
sustainable city, sustainability should be made a priority of existing cities.
1. There are many sources of energy that Masdar City will use. Write down three of them.

(6 points)
2. What is the main criticism of Masdar City? (5 points)

SEE PAGE FOUR... |
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3. What is the goal of the students at the Masdar Institute of Science and Technology?

(5 points)

4. Write down the sentence which indicates that cars will not be used in Masdar City, instead
people will move around in other ways. (5 points)

5. What does the underlined word 'It' refer to? (4 points)
6. Find the word in the text that means ''a system of wires through which electricity is
connected to different power stations across a region."' (5 points)

Question Three: (30 points)
Read the following text carefully, and then in your ANSWER BOOKLET answer all
the questions that follow. Your answers should be based on the text.

Interviewer: Did you make any mistakes on that visit?

Mr Ghanem: 'Yes! Chinese business people will always ask about a company's successes in
the past. However, because I worked for a new company, I could not talk about its track
record. We did not do any business deals on that first trip.'

Interviewer: What advice can you give to people wanting to do business in China?

Mr Ghanem: 'Before I visit a company, I send recommendations from previous clients. I
also send my business card with my job position and qualifications translated into Chinese.'
Interviewer: Can you tell us about your last meeting in China?

Mr Ghanem: 'Of course! I arrived on time. You must not arrive late, as this shows
disrespect. Then, when I met the company director, I shook hands with him gently. I began
the meeting by making small talk about my interesting experiences in China. During the
meeting, I made sure that my voice and body language were calm and controlled. I never told
a joke, as this may not be translated correctly or could cause offence.'

1. Two reasons prevented Mr Ghanem from telling jokes during his last meeting in China.

Write them down. (6 points)
2. Two things arc done by Mr Ghanem before visiting a company in China. Write them

down. (6 points)
3. Why didn't Mr Ghanem do any business deals on his first trip to China? (5 points)
4. Why mustn't a businessperson arrive late to a meeting in China? (5 points)
5. What does the underlined word 'him' refer to? (4 points)
6. What did Mr Ghanem talk about at the beginning of the meeting? (4 points)

Question Four: (20 points)
Free Writing

In your ANSWER BOOKLET, write a composition of about 80 words on ONE of the
following:

1. Some people with good education and experience in their field decide to move abroad to
work. Write an article discussing the advantages and disadvantages of working abroad.

2. First impressions are important. Some people think that doing well in interviews is the
key to securing a good job. Discuss your point of view; giving examples and reasons to

support it.
THE END
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For items (1-15), read each one carefully and then choose the correct answer from A, B,
C or D to complete each of the following sentences.

1) It is believed that all aspects of everyday life will rely on a computer .......... in the
future.
A) program B) mouse C) filter D) blog
2) If young people share information on social media with their friends, other people might
.......... it too.
A) accessible B) access C) accessing D) accessibly
3) Some doctors used to be convinced that only .......... forms of medicine worked.
A) conventional B) convention C) conventionally D) conventionalise
4) Ibn Sina was influenced by the works of the .......... Aristotle.
A) arthritic B) viable C) sponsor D) philosopher
5) Coldis a common .......... in winter.
A) migraine B) homeopathy C) ailment D) arthritis
6) Experts say there .......... a growth in the number of older people buying smart phones in
the future.
A) would be B) will be C) has been D) was being

SEE PAGE TWO...
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7) There ..c.ceuuee be a lot more wild animals in the past, but they are becoming rare
nowadays.
A) were used to B) was used to C) use to D) used to
8) The school principal .......... her emails before she started work.
A) has checked B) has been checking
C) had checked D) had been checking
9) My grandfather .......... for his book for almost half an hour until finally he found it.
A) had been looking B) had looked C) has been looking D) has looked
10) Next month, we .......... in our house for a year.
A) have been living B) have lived
C) will have lived D) will be lived
11) Fatima al- Fihri’s centre in Fez became Morocco’s top university, and it 1S cecesennes
many students from all over the world come to study.
A) which B) where C) who D) whose

12) Al- Kindi contributed to the invention of the oud in the 19™ century.

The sentence which emphasises the underlined word is ..........

A) The thing that Al- Kindi contributed to was the invention of the oud.

B) It was the invention of the oud that Al- Kindi contributed to.

C) The person who contributed to the invention of the oud was Al- Kindi.

D) It was the 19™ century when Al- Kindi contributed to the invention of the oud.

13) Please slow down. My grandmother .......... walking so fast.
A) used to B) is not used to C) was not used to D) didn’t use to

14) "I did my last exam yesterday".
The correct reported speech form of the above sentence is ..........

A) Ali told Maha that he has done his last exam the day after.
B) Ali told Maha that he had done his last exam the day before.
C) Ali told Maha that she had done his last exam yesterday.

D) Ali told Maha that I have done his last exam the day before.

15) The person who is believed to be responsible for the design of the tower .......... which
is originally a minaret .......... isthe ceveeneee Jabir ibn Aflah.
A) ./, / mathimatician B) ; /, / mathamatician
C) , / ; / mathematecian D) , /, / mathematician

SEE PAGE THREE...
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Question Two: (20 points)
Read the following text carefully, and then in your ANSWER BOOKLET answer all

the questions that follow. Your answers should be based on the text.

Scientists have successfully invented a prosthetic hand with a sense of touch. It
ian exciting new invention, which they plan to develop. It is possible that, in the not-
too-distant future, similar artificial arms and legs will have taken the place of today’s
prosthetic limbs.

Dennis Sorensen, a 39-year-old from Denmark, was the first person to try out the
new invention. After losing his left hand in an accident, he had been using a standard
prosthetic hand for nine years. The new hand, which was developed by Swiss and
Italian scientists, was a huge improvement. With it, Sorensen could not only pick up
and manipulate objects, but he could also feel them. ‘When I held an object, I could feel
if it was soft or hard, round or square,” he explained. He said that the sensations were
almost the same as the ones he felt with his other hand.

Unfortunately, Sorensen was only taking part in trials, and the equipment is not
ready for general use yet. He was only allowed to wear it for a month, for safety
reasons. So now he has his old artificial hand back. However, he hopes that soon he will
be wearing the new type of hand again. He is looking forward to the time when similar
artificial limbs are available for the thousands of people who need them. He will have
helped to transform their lives.

1) Using his prosthetic hand, Dennis Sorensen could do three things. Write them down.

(6 points)

2) Why isn’t Sorensen wearing his new artificial hand? (4 points)
3) Write down the sentence which states who improved the new invention: the prosthetic
hand. (3 points)
4) What does the underlined pronoun 'they' refer to? (2 points)
5) Find a word in the text which is the opposite of 'natural’. (2 points)

6) Despite the improvements prosthetic parts have on people's quality of life, they might
cause several problems for people who wear them. Suggest three of these problems.

(3 points)

SEE PAGE FOUR...
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Question Three: (10 points)

FREE WRITING

In your ANSWER BOOKLET, write a composition of about 80 words on ONE of the
following:

1) An essay for your school magazine describing a famous character mentioning his/her
studies, most important achievements and how he/she influenced you.

2) An article describing an important event that you have seen, taken part in or heard about.

THE END
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For items (1-15), read each one carefully and then choose the correct answer from A, B,
C or D to complete each of the following sentences.

1. I practiced my speech a lot, but I think I'l ............ when I see a big audience.
A. get cold feet B. get it off your chest
C. have a head for figures D. play it by ear
2. One good teacher can ............ a difference in a student's future.
A. make B. do C. take D. give
3. When you have all the necessary information, you are ............
A. patient B. prepared C. multﬂmgual D. domestic
4. Mohammed is a ............ worker, always showing a lot of care in everything he does.
A. conscientious B. rewarding C. secure D. voluntary
5. Children often ............ to new situations faster than adults.
A. adaptation B. adaptable C. adapt D. adapting
6. The ............ soil in the valley made it ideal for growing crops.
A. fertilise B. fertilisation C. fertile D. fertility
7. Experts debate whether the functional ............ of one side of the brain affects
personality.
A. dominate B. dominance C. dominant D. dominantly

SEE PAGE TWO...
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8.Even if Omar ...coceveee. his driving test this afternoon, he won't have his own car.

A. passes B. passed C. had passed D. would pass
9. Ahmad will buy the book as long as it ....ceeeeees expensive.

A. wasn't B.isn't

C. hadn't been D. couldn't have been

10. If I'd studied harder, I'd have passed the exam.
The sentence which has a similar meaning to the one above is ............
A. 1 didn’t study very hard, and I didn’t pass.
B. I didn’t study very hard, but I passed.
C. I studied very hard, but I didn’t pass.
D. I studied very hard, and I passed.

11. T wish we lived in a bigger flat.
The above sentence eXpresses ............
A. wishes about the present that are impossible or unlikely to happen.
B. wishes about the present that are possible or likely to happen.
C. regrets about the past.
D. regrets about the future.

12. "Does the flight depart in the morning or afternoon?"
The correct indirect question of the one above is ............
A. Do you know if the flight departed in the morning or afternoon?
B. Do you know if the flight had departed in the morning or afternoon?
C. Do you know if the flight will depart in the morning or afternoon?
D. Do you know if the flight departs in the morning or afternoon?

13. Health professionals say that drinking fizzy drinks is bad for health.
The correct impersonal passive of the sentence above s ............
A. Drinking fizzy drinks are said to be bad for health.

B. Drinking fizzy drinks was said to be bad for health.
C. Drinking fizzy drinks is said to be bad for health.
D. Drinking fizzy drinks were said to be bad for health.

14. Khalid regrets spending too much money on useless things.
The sentence which has a similar meaning to the one above is ............
A. If only Khalid hadn’t spent too much money on useless things.
B. If only Khalid had spent too much money on useless things.
C. If only Khalid spent too much money on useless things.
D. If only Khalid didn’t spend too much money on useless things.

15. Proper .eeceeeeece. is essential for maintaining good health and energy levels.
A. nutretion B. nutrision C. nutrition D. natrition

SEE PAGE THREE...
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Question Two: (20 points)

A) Read the following text carefully, and then in your ANSWER BOOKLET answer all

the questions that follow. Your answers should be based on the text. (17 points)

In England, almost 50% of school leavers go on to higher education. The figure
has not always been as high as this. Twenty years ago, it was closer to 30%, and thirty
years before that, it was only about 5%. Another huge change has been financial. Before
1998 CE, higher education in the UK was completely free for UK citizens. Since then,
tuition fees have been introduced. Most students borrow this money from the
government. They don't have to repay it immediately. Instead, they pay it back slowly
out of future earnings.

Despite the high cost, most students choose to study away from home. A recent
survey of 17,000 students revealed that only 7% wanted to stay at home while they
studied for their degree. Of course for most young people, living away from home
means borrowing even more money from the government. So why don’t students
choose to avoid debt by staying at home, where they don't have to pay rent? Most of
them say that they want to move to the University their Choice, rather than the nearest
one. Another strong motive is the desire to live in a new culture. Where do these
students live? Many have rooms in halls of residence, especially in their first year;
others rent flats or houses. A lucky minority live in property that their parents have
bought for them. Most of them need to learn to cook, do their own washing and manage
their time and money.

1. Students who choose to study abroad may live in different places. Write down two of
these places. (4 points)

2. Two major changes have occurred in higher education in England. One of them is
financial. Mention the other change. (2 points)

3. Write down the sentence which states the skills that most students need to learn when

living away from home. (3 points)
4. Find a word in the text that means "money you owe". (2 points)
3. What does the underlined word "it" refer to? (2 points)

6. Living away from home for university has many benefits. Think about this statement
and in two sentences write down your point of view. (4 points)

SEE PAGE FOUR...
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B) Literature Spot: (3 points)

Read the following extract from Around the World in Eighty Days carefully, then
answer the question that follows:

‘Do we stop here?’

‘Certainly. The railway isn’t finished.’

“What! Not finished?’

“No. There’s still a matter of fifty miles to be laid from here to Allahabad, where the line
begins again.’

“‘Yet you sell tickets from Bombay to Calcutta,” retorted Sir Francis, who was growing
warm.

“No doubt,” replied the conductor, ‘but the passengers know that they must provide means
of transportation for themselves from Kholby to Allahabad.’

- What does the expression ""growing warm'' suggest about Sir Francis?

Question Three: (10 points)

FREE WRITING

In your ANSWER BOOKLET, write a composition of about 80 words on ONE of the
following:

1. Exams are often seen as a necessary part of education, but they can also be stressful for
students. Discuss the advantages and disadvantages of exams. Do you think exams are the
best way to assess students' knowledge and skills? Support your opinion with clear
arguments and examples.

2. Write a blog post for your school's website discussing the importance of learning a foreign

language. In your post, explain how learning a foreign language can benefit students
academically, personally, and professionally. Use examples to support your ideas.

THE END




